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1. Hkkjr esa ÅtkZ dk xSj ikjEifjd lzksr gS& 
 

 A. dks;yk B. fctyh 
 C. rsy vkSj xSl D. Tokj ÅtkZ 
     
 Which of the following is a nonconventional source of energy in India ? 
 A. Coal B. Electricity 
 C. Oil and Gas D. Tidal Energy 
     

2. fuEu esa ls izR;{k dj dkSu&lk gS& 
 

 A. mRikn dj B. ewY; of)Zr dj 
 C. fcØh dj D. vk; dj 
     
 Which of the following is a direct tax: 
 A. Excise Duty B. Value Added Tax 
 C. Sales Tax D. Income Tax 
     

3. ,MksYQ fgVyj ds }kjk çkjEHk fd;s x, xqIr iqfyl QkslZ dk uke D;k Fkk& 
 

 A. xslVsiks B. eks,lkM 
 C. psdk D. goynkj 
     
 What was the secret police started by Adolf Hitler called: 
 A. Gestapo B. Mossad 
 C. Cheka D. Hawaldar 
     

4. bUnz/kuq"k ds jaxksa esa lcls NksVh rjax nh/kZ fdl jax dh gksrh gS& 
 

 A. cSxuh B. ihyk 
 C. yky D. ukjaxh 
     
 Which color of the rainbow has the shortest wavelength: 
 A. Violet B. Yellow 
 C. Red D. Orange 
     

5. ;wdsfyIVl ds o`{k dgk¡ ds ewy fuoklh gSa& 
 

 A. vkWLVªsfy;k B. Jhyadk 
 C. usiky D. vQxkfuLrku 
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 Eucalyptus is a native of:  
 A. Australia B. Srilanka 
 C. Nepal D. Afghanistan 

 
 

6. daxk: dk ewy fuokl gS& 
 

 A. vkWLVªsfy;k B. nf{k.k vesfjdk 
 C. vÝhdk D. Hkkjr 
     
 Kangaroo is a native animal of: 
 A. Australia B. South America 
 C. Africa D. India 
     

7. रोमन कैथोिलक iksi dk fuokl dgk¡ gS & 
 

 A. osful B. oSfVdu 
 C. isfjl D. usIyl 
     
 The Roman Catholic Pope resides in ?  
 A. Venice B. Vatican 
 C. Paris D. Naples 
     

8. ǒवƳ पया[वरण Ǒदवस, 2017 कȧ ǒवषय (थीम) Èया थी ? 
 

 A. इलÈेĚोिनक Ĥदषूण को 
हराना 

B. Üलाǔèटक Ĥदषूण को हराना 

 C. मानव का Ĥकृित से 
जुड़ाव 

D. रासायिनक Ĥदषूण को हराना 

     
 What was the theme of World Environment Day 2018 ? 
 A. Beat the Electronic 

Pollution 
B. Beat the Plastic Pollution 

 C. Connecting people with 
the nature 

D. Beat the Chemical Pollution 

     
9. çR;sd çdkf’kr iqLrd ds ihNs Nis ISBN uEcj esa fdrus vad gksrs gSa& 

 
 A. 10 B. 9 

 C. 6 D. 13 
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 The ISBN number printed on the back of every published book contains how many digits: 
 A. 10 B. 9 
 C. 6 D. 13 
     

10. uk’rs esa nw/k ds lkFk [kk,s tkus okys dkuZ¶ysDl dk vkfo"dkj fdlus fd;k& 
 

 A. dsykWx B. fiYlcjh 
 C. Dosdj D. gYnhjke 

 
 

 Who invented the cornflakes which are eaten with milk for breakfast: 
 A. Kellogg B. Pillsbury 
 C. Quaker D. Haldiram 
     

11. fuEu esa ls dkSu lk izk.kh dSfY’k;e dkcksZusV ds dop ¼’kSy½ ds vUnj jgrk gS& 
 

 A. lhi B. dsUpqvk 
 C. dkWdjksp D. pwgk 
     
 Which of the animals live inside a shell of calcium carbonate: 
 A. Oyster B. Earthworm 
 C. Cockroach D. Rat 
     

12. nh xbZ Ja[kyk esa vuqifLFkr uEcj Hkjdj iw.kZ dhft,& 5,15, 29,....., 69, 95 
 

 A. 34 B. 54  
 C. 49  D. 47  
     
 Complete the given series by finding the missing number: 5,15, 29,....., 69, 95 

 A. 34 B. 54  
 C. 49  D. 47  
     

13. यने Ǒकस देश कȧ मुġा है ? 
 A. bZjkd B. baXyS.M 
 C. vesfjdk D. tkiku  
     
 Yen is the currency of which country: 
 A. Iraq B. England 
 C. America D. Japan  
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14. buesa ls Lruik;h tUrq dkSu&lk gS& 
 A. Ogsy B. dcwrj 
 C. esa<d D. exjePN 
     
 Which of the following is a mammal 
 A. Whale B. Pigeon 
 C. Frog D. Crocodile 
     

15. fuEu esa ls ÅtkZ dh bdkbZ dkSu&lh gS& 
 A. fdyksxzke B. lsds.M 
 C. gsDVs;j D. twy 

 
 The unit of energy is: 
 A. Kilogram B. Second 
 C. Hectare D. Joule 
     

16. िनàन आकृित मɄ घनाकार आकृितयɈ कȧ कुल सÉंया होगी ? 

 
 A. 80 B. 89 
 C. 87 D. 90 
     
 Count the number of cubes in the following figure. 

 

 A. 80 B. 89 
 C. 87 D. 90 
     

17. if{k;ksa dk v/;;u fdlds vUrxZr fd;k tkrk gS& 
 

 A. ,UVkseksykWth B. lhleksykWth 
 C. vfuZFkksykWth D. ,UFkzsiksykWth 
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 The study of birds is done under:  
 A. Entomology B. Seismology 
 C. Ornithology D. Anthropology 
     

18. tSls vle dk chgw u`R; çfl) gS oSls gh dsjy dk dkSu lk ùR; çfl) gS& 
 

 A. dFkddyh B. dqphiqM+h 
 C. dFkd D. HkjrukV~;e 
     
 As the Bihu dance of Assam is famous, similarly which dance is famous from Kerala:  
 A. Kathakali B. Kuchipudi 
 C. Kathak D. Bharatanatyam 
     

19. राƶमंडल खले 2018 मɄ भारत Ʈारा कुल Ǒकतने मेडल जीते गये ? 
 A. 58 B. 62 
 C. 66 D. 68 
     
 Total number of medals won by India in the 2018 Commonwealth Games is - 
 A. 58 B. 62 
 C. 66 D. 68 
     

20. iF̀oh D;k gS& 
 A. xzg B. ,LVvks,M 
 C. lkSjeaMy D. mixzg 
     
 Earth is:  
 A. Planet B. Asteroid 
 C. Solar System D. Satellite 
     

21. exjePN D;k gS& 
 A. ljhl̀i B. LrukikbZ 
 C. eNyh D. dhV 
     
 Crocodile is a ?  
 A. Reptile B. Mammal 
 C. Fish D. Insect 
     

22. dksphu fdl çns’k dk cUnjxkg gS& 
 

 A. dsjy B. dukZVd 
 C. rfeyukMq D. vkU/kzk çns’k 
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 Cochin is a port of state ?  
 A. Kerala B. Karnataka 
 C. Tamil Nadu D. Andhra Pradesh 
     

23. jDr dk yky jax fdldh mifLFkfr ds dkj.k gksrk gS& 
 

 A. DyksjksfQy B. gheksXyksfcu 
 C. dksckYV D. eSXuhf’k;e 
   

 
  

 The red color of blood is due to the presence of ?  
 A. Chlorophyll B. Hemoglobin 
 C. Cobalt D. Magnesium 

 
 

24. jDr dh deh ls gksus okys jksx dks dgrs gSa& 
 A. gStk B. VkbQkbM 
 C. fjdsV~l D. vuhfe;k 
     
 Disease due to deficiency of blood is ? 
 A. Cholera B. Typhoid 
 C. Rickets D. Anemia 
     

25. uhyd.B 'kCn dkSu&lk lekl n’kkZrk gS& 
 

 A. f}xq lekl B. cgqczhgh lekl 
 C. }Un lekl D. rRiq#"k lekl 
     

26. Ñi;k vuqefr nsus dh Ñik djsa okD; esa vuko’;d 'kCn gSa & 
 

 A. Ñi;k B. vuqefr 
 C. Ñik D. nsus 
     

27. buesa ls fdl eqgkojs dk vFkZ gS& ^dHkh&dHkh fn[kykbZ iM+uk* 
 

 A. lCt ckx fn[kykuk B. pkj pkan yxkuk 
 C. bZn dk pkan gksuk D. vkdk’k ds rkjs rksM+uk 
     

28. fuEu esa ls yksdksfDr dkSu lh gS& 
 

 A. vc iNrk, gksr dk tc 
fpfM+;k pqx xbZ [ksr 

B. ukdksa pus pckuk 

 C. cky ckadk uk gksuk  D. eq¡g dh [kkuk 
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29. 'kq) okD; dkSu&lk gS& 

 A. gYyk&xqYyk lqurs&lqurs 
dku id x;k 

B. gYyk&xqYyk lqurs&lqurs 
dku id x;s 

 C. gYyk&xqYyk lqurs&lqurs 
dku id x;h 

D. gYyk&xqYyk lqurs&lqurs 
ukd id x;k 

     
30. 'kq) okD; dk p;u dhft,& 

  
 A. xhrk] vuhrk vkSj lquhrk 

i<+ jgh gSaA 
B. xhrk vkSj vuhrk] lquhrk 

i<+ jgh gSaA 
 C. xhrk] vuhrk vkSj lquhrk 

i<+ jgs gaSA 
D. xhrk] vuhrk] lquhrk vkSj 

i<+ jgh gSA 
     

31. 'kq) okD; dk p;u dhft,& 
  

 A. eqjkjh tUe ls thou Hkj 
riLoh jgk 

B. eqjkjh vkthou riLoh jgk 

 C. eqjkjh thou ls tUe Hkj 
riLoh jgk 

D. mijksDr esa ls dksbZ ughaA 

     
32. foijhrkFkhZ 'kCn ;qXe dk p;u dhft,& 

  
 A. cky&cPps B. lkQ&lqFkjk 
 C. ykHk&gkfu D. cM+s&cw<+s 
     

33. jktLFkku dk dYiò{k ¼lcls mi;ksxh o{̀k½ gS& 
 

 A. <kd B. lky 
 C. [kstM+h D. iyk’k 
     
 The Kalpavraksha (most useful tree) of Rajasthan is ?  
 A. Dhak B. Sal 
 C. Khejri D. Palash 
     

34. िनàन मɄ से कौन सी नदȣ घाटȣ पǐरयोजना सतलज नदȣ पर है ? 

 
 A. C;kl ifj;kstuk B. Hkk[kM+k uaxy ifj;kstuk 
 C. bfUnjk xka/kh ifj;kstuk D. ekgh ctkt lkxj 

ifj;kstuk 
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 Which of the following river valley project is on Sutlej river ?  
 A. Beas Project B. Bhakra Nagal Project 
 C. Indira Gandhi Canal 

Project 
D. Mahi Bajaj Sagar Project 

     
35. fuEu esa ls dkSu lk vax ikpd jl ugha cukrk& 

 
 A. vek’k; B. ;Ñr 
 C. vXuk’k; D. ew=k’k; 
     
 Which of the following organs does not secrete digestive enzymes ?  
 A. Stomach B. Liver 
 C. Pancreas D. Urinary Bladder 
     

36. fuEu esa ls dkSu&lk gkeksZu Vkbi I Mk;fcVhl ¼e/kqesg½ esa vi;kZIr ek=k esa curk gS& 
 

 A. XywdkxkSu B. bUlqfyu 
 C. lkseSVksLVSfVu D. FkkbjkfDlu 
     
 Which of the following hormones is deficient in type 1 diabetes ?  
 A. Glucagon B. Insulin 
 C. Somato Statin D. Thyroxin 
     

37. fdl jDr lewg dks loZO;kih jDrnkrk dgk tkrk gS&  
 A. A B. B 
 C. AB D. O 
     
 Which blood group is called the universal donor ? 
 A. A B. B 
 C. AB D. O 
     

38. EVM e’khu dk uksV ¼NOTA½ cVu dk vFkZ gS& 
 

 A. mijksDr esa ls dksbZ ugha B. mijksDr lHkh 
 C. izR;k’kh lwph dk çFke D. çR;k’kh lwph dk vfUre 
     
 The NOTA button in the EVM machine stands for ?  
 A. None of the above B. All of the above 
 C. First in the list of 

candidates 
D. Last in the list of candidates 
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39. bUnz/kuq"k ds fupys fdukjs ls Åijh fdukjs rd jaxksa dk Øe gS& 
 

 A. ROYGBIV B. ROYGVIB 
 C. VIBGYOR D. BIVYOGR 
     
 The sequence of colors in a rainbow from lower to higher end is ?  
 A. ROYGBIV B. ROYGVIB 
 C. VIBGYOR D. BIVYOGR 
     

40. Hkkjrh; fu;kZr dh eUn izxfr dk dkj.k gS& 
 

 A. Å¡ps ewY; B. fons’kh izfr;ksfxrk 
 C. fuEu Lrj dk eky D. mijksDr lHkh 
     
 The reason for slow progress in increase of exports of India is ?  
 A. High prices B. Competition from other 

nations 
 C. Low standard of the 

goods 
D. All of the above 

     
41. fuEufyf[kr esa ls dkSu lh ,d ok;qe.My dh LFkkbZ xSl gS ¼ftldk izfr’kr cnyrk ugha gS½& 

 
 A. dkcZu Mk;vkWDlkbM B. vkstksu 
 C. ukbVªkstu D. fu;kWu 
     
 The percentage of which of the following gases of the atmosphere does not change ?  
 A. Carbon di oxide B. Ozone 
 C. Nitrogen D. Neon 
     

42. jk"Vªh; i;kZoj.k vfHk;kaf=dh 'kks/k laLFkku ¼uhjh½ dgk¡ LFkkfir fd;k x;k& 
 

 A. /kuckn B. ukxiqj 
 C. ubZ fnYyh D. pSUubZ 
     
 National Environmental Engineering Research Institute (NEERI) is situated in ?  
 A. Dhanbad B. Nagpur 
 C. New Delhi D. Chennai 
     

43. fuEu esa ls dkSu lk [kfut Hkkjr esa lcls vf/kd Ikk;k tkrk gS& 
 

 A. pk¡nh B. vHkzd 
 C. ykSg v;Ld D. rk¡ck 
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 India is the largest producer of which of the following minerals ?  
 A. Silver B. Mica 
 C. Iron Ore D. Copper 
     

44. 31 ekpZ 2018 dh fLFkfr esa Hkkjr dk lcls rst lqij dEI;wVj dkSu&lk gS& 
 

 A. ih;w"k B. ç’kkUr 
 C. izR;w"k D. iq"dj 
     
 Which of the following is the fastest supercomputer of India as on 31st March 2018 ?  
 A. Piyush B. Prashanth 
 C. Pratyush D. Pushkar 
     

45. CywecxZ@QksClZ ds vuqlkj 2017 esa vf/kdre ifjlEifRr vftZr djus okyk Hkkjrh; [kjcifr dkSu 
gS& 

 A. xkSre vnkuh B. y{eh feRry 
 C. eqds’k vEckuh D. jru VkVk 
     
 According to the Bloomberg / Forbes list, who among the following Indian millionaires has 

accumulated the largest assets ?  
 A. Gautam Adani B. Laxmi Mittal 
 C. Mukesh Ambani D. Rattan Tata 
  

 
   

46. èवतğं भारत मɄ सबसे पहले िमस वãड[ ǔखताब Ǒकसने जीता था ?  
 

 A. मानुषी िछãलर  B. एƳया[ राय  

 C. रȣता फाǐरया  D. डायना हेडन  

     
 In free India, which among the following Indian woman was the first to win the Miss World title ?  
 A. Manushi Chillar B. Aishwarya Rai 
 C. Priyanka Chopra D. Daina Hayden 
     

47. fuEu esa ls fdl Qly esa lcls vf/kd izfr’kr rsy dh ek=k gskrh gS& 
 

 A. e¡wxQyh B. lks;kchu 
 C. lwjteq[kh D. fry 
     
 Which among the following crops has the largest percentage of oil ?  
 A. Groundnut B. Soyabean 
 C. Sunflower D. Sesame 
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48. यǑद हमɄ िनàन बोड[ के बोड[स[ को लाल ǐरÞबन से सजाना हो ǔजसकȧ कȧमत Rs. 2/से.मी. हो तो Ǒकतनी 

ǐरÞबन और Ǒकतने पैसे कȧ आवæयकता होगी ? 

 
 A. 16cm ribbon and 32 

rupees 
B. 8cm ribbon and 16 rupees 

 C. 8cm ribbon and 32 
rupees 

D. 16m ribbon and 320purees 

     

 If we want to decorate the border of following board with red ribbon cost Rs. 2/cm, then how 
much ribbon and money will be required to do so? 

 
 A. 16cm ribbon and 32 

rupees 
B. 8cm ribbon and 16 rupees 

 C. 8cm ribbon and 32 
rupees 

D. 16m ribbon and 320purees 

 
49. 

 
^jghe* fdl izdkj dh laKk gS& 
 

 A. O;fDrokpd B. Hkkookpd 
 C. tkfrokpd D. lewgokpd 
     

50. ,ldkfcZd ,flM dh deh ds dkj.k fuEu esa ls dkSu&lk jksx gks tkrk gS& 
 

 A. csjh&csjh B. LdohZ 
 C. ân; jksx D. {k; jksx 
     
 The deficiency of ascorbic acid causes which of the following diseases ?  
 A. Beri Beri B. Scurvy 
 C. Heart Disease D. TB 
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51. fuEu esa ls dkSu&lk jksx xq.klw=h fodkj ds dkj.k gksrk gS& 
 

 A. gStk B. {k; jksx 
 C. Mkmu flUMªkse D. VkbQkbM 
     
 Which of the following diseases is caused by chromosomal disorders ?  
 A. Cholera B. Tuberculosis 
 C. Down’s Syndrome D. Typhoid 
     

52. fuEu esa ls dkSu lk 'kgj bDdr ¼,d izdkj dh gFk&dj?kk cqukbZ½ ls lEcfU/kr gS& 
 

 A. lEcyiqj B. ukxiqj 
 C. ifV;kyk D. eqEcbZ 
     
 Which of the following cities relates to Ikkat (Special type of handloom weave) ?  
 A. Sambalpur B. Nagpur 
 C. Patiala D. Mumbai 
     

53. bu esa ls dkSu&lk ikS/kk ukbVªkstu fLFkjhdj.k esa lgk;d ugha gS& 
 

 A. puk B. eVj 
  C. lse D. /kku 
     
 Which of the following plants is not helpful in Nitrogen fixation ?  
 A. Gram B. Pea 
 C. Beans D. Paddy 
     

54.  jsM MkVk cqd fdl dk vfHkys[k gS& 
 

 A. foyqIr izk.kh B. cgqr vf/kd la[;k esa ik, 
tkus okys izk.kh 

 C. iF̀oh esa fcy cukus okys 
izk.kh 

D. ladVkiUu iztkfr;k¡ 
 
 

 Red Data book contains an account of ?  
 A. Extinct animals B. Animals found in abundance 
 C. Burrowing animals D. Endangered species 
     

55. एक बगै मɄ 50 पैस,े 25 पैसे एवँ 10 पैसे के िसÈके 5:9:4 के अनुपात मɄ रख ेहɆ. Ĥ×येक Ĥकार के 
िसÈकɈ कȧ सÉँया बतायɄ ? 

 A. 360,160,200 B. 160,360,200 
 C. 200,360,160 D. 200,160,300 
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 A bag contains 50Paise, 25Paise and 10Paise coins in the ratio of 5:9:4. Find the number of coins of 

each type respectively 
 A. 360,160,200 B. 160,360,200 
 C. 200,360,160 D. 200,160,300 

     
56. ifjfLFkfrdh rU= ds fuEufyf[kr ?kVdksa esa ls dkSu lk ?kVd tSo rFkk vtSo घटकɈ ds chp 

e/;LFk dh Hkwfedk fuHkkrk gS& 
 

 A. mRiknd B. miHkksDrk 
 C. fo;kstd D. vkokl {ks= 
     
 Which of the following components of the ecosystem is an intermediate between biotic and 

abiotic factors ?  
 A. Producers B. Consumers 
 C. Decomposers D. Habitat 
     

57. fuEufyf[kr esa ls dkSulk ;qXe lgh lqesfyr ugha gS& 
 

 A. /kksou lksMk&lksfM;e 
dkcksZusV 

B. csfdax lksMk& lksfM;e 
ckbZdkcksZusV 

 C. uhyk FkksFkk & dkWij 
lYQsV 

D. IykLVj vkWQ isfjl& 
dSfYl;e dkcksZusV 

     
 Which of the following pairs is not matched properly ?  
 A. Washing Soda – Sodium 

Carbonate 
B. Baking Soda – Sodium Bi 

Carbonate 
 C. Neela Thota – Copper 

Sulphate 
D. Plaster of Paris – Calcium 

Carbonate 
     

58. ;fn ,d CD dh dher 250 # gS rFkk og 225 esa csph xbZ rks mldh fMLdkmaV dh nj gS& 
 

 A. 10 izfr’kr B. 25 izfr’kr 
 C. 2-5 izfr’kr D. 11-5 izfr’kr 
     
  

The cost price of a CD is 250 Rs and it is sold for 225 Rs, the rate of discount is ?  
 A. 10% B. 25% 
 C. 2.5% D. 11.5% 
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59. VsyhQksu dk vkfo"dkj fdlus fd;k& 
 

 A. vfydtsUMj xzkge csy B. ¶ysfeax 
 C. okVlu ,oa fØd D. xsfyfy;ks 
     
 Telephone was invented by ?  

 
 A. Alexander Graham Bell B. Fleming 
 C. Watson and Crick D. Galileo 
     

60. fdUgh 8 vadksa dk vkSlr 21 gS ;fn izR;sd vad dks 8 ls xq.kk dj fn;k tk, rks bu u, vkB 
vadksa dk vkSlr D;k gksxk& 
 

 A. 24 B. 21 
 C. 8 D. 168 
     
 The average of 8 numbers is 21, if each of the numbers is multiplied by 8, then the average of the 

new set of numbers is ?  
 A. 24 B. 21 
 C. 8 D. 168 
     

61. jkT;iky ds in dh 'kiFk dkSu fnykrk gS& 
 

 A. gkbZdksVZ dk eq[; 
U;k;k/kh’k 

B. fo/kku lHkk dk Lihdj 

 C. jk"Vªifr D. ç/kkuea=h 
     
 The oath of office is administered to the governor by the ?  
 A. Chief Justice of the High 

Court 
B. Speaker of the Legislative 

Assembly 
 C. President D. Prime Minister 
     

62. fuEu esa ls fdl jkT; dh Hkkjr esa vc ls yEch rV js[kk gS& 
 

 A. egkjk"Vª B. rfeyukMq 
 C. vkU/kzizns’k D. xqtjkr 
     
 Which of the following states has the longest coastline in India ?  
 A. Maharashtra B. Tamil Nadu 
 C. Andhra Pradesh D. Gujarat 
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63. fuEu esa ls dkSu ls dq’kk.k 'kkld }kjk ckS)er dks izksRlkfgr fd;k x;k& 
 

 A. dkSfVY; B. foØekfnR; 
 C. v’kksd D. dfu"d 
     
     
 Which of the Kushan rulers patronized Buddhism ?  
 A. Kautilya B. Vikramaditya 
 C. Ashoka D. Kanishka 
     

64. tfy;k okyk ckx dk.M ls fuEu esa ls fdldk lEcU/k gS& 
 

 A. tujy gSfjl B. duZy oSYlys 
 C. tujy Mk;j D. ykMZ Dykbo 
     
     
 Who among the following is associated with the “Jallian Wala Bagh” tragedy ?  
 A. General Harris B. General Wellesly 
 C. General Dyer D. Lord Clive 
     

65. Hkkjr esa u`R; ukVd ,oa laxhr dks izksRlkgu fdlds }kjk fn;k tkrk gS& 
 

 A. lkfgR; vdkneh B. laxhr ukVd vdkneh 
 C. yfyr dyk vdkneh D. uS’kuy Ldwy vkWQ Mªkek 
     
 Which of the following is responsible for fostering the development of dance drama and music in 

India ?  
 A. Sahitya Academy B. Sangeet Natak Academy 
 C. Lalit Kala Academy D. National School of Drama 
     

66. इनमɄ से कौन सा नाम जीवɈ के Đमागत उÛनित के िसƨातं से जुड़ा है ?  
 

 A. jnjQksMZ B. vk;ZHkV~V 
 C. pjd D. MkfoZu 
     
 Which of the following is associated with the theory of evolution  of life ?  
 A. Rutherford B. Aryabhatts 
 C. Charak D. Darwin 
     

67. fuEu esa ls dkSu lh iqLrd eqa’kh izsepan }kjk ugha fy[kh xbZ& 
 

 A. jaxHkwfe B. çse iphlh 
 C. fo"kdU;k D. dk;kdYi 



EXAMINATION FOR LOWER DIVISION CLERK (LDC), DATE – 27TH JANUARY, 2019 

 

INSTITUTE OF FOREST PRODUCTIVITY, RANCHI (JHARKHAND) - 835303  Page 16 
 

     
  

 
Which one of the following books is not written by Munshi Premchand ?  

 A. Rangabhoomi B. Prem Pacchisi 
 C. Vish Kanya D. Kaya Kalp 
     

68. lM+d fuekZ.k dk xksYMu DokM~jh ysVjy izkstsDV fdu uxjksa dks tksM+rk gS& 
 

 A. fnYyh] eqEcbZ] dksydRrk] 
psUubZ 

B. fnYyh] cSaXkyksj] gSnjkckn] 
tEew 

 C. fnYyh] ikaMhpsjh] 
Hkqous’oj] f’keyk 

D. fnYyh] dU;kdqekjh] 
xqokgkVh] Jhuxj 

     
 The Golden Quadrilateral Project (Highways) iwill connect which of the following cities ?  
 A. Delhi, Mumbai, Kolkata, 

Chennai 
B. Delhi, Bangalore, 

Hyderabad, Jammu 
 C. Delhi, Pondicherry, 

Bhuvneshwar, Shimla 
D. Delhi, Kanya Kumari, 

Guwahati, Srinagar 
     

69. fQYe ^pd ns bafM;k* fdl [ksy ds ckjs esa gS& 
 

 A. fØdsV B. gkWdh 
 C. Vsful D. QqVckWy 
     
 The film Chak De India was about ?  
 A. Cricket B. Hockey 
 C. Tennis D. Football 
     

70. lkbuk usgoky fdl [ksy ls lacaf/kr gS& 
 

 A. csMfeaVu B. fØdsV 
 C. ckWfDlax D. Vsfcy Vsful 
     
 Saina Nehwal relates to ?  
 A. Badminton B. Cricket 
 C. Boxing D. Table Tennis 
     

71. foaxl vkWQ Qk;j uke dh iqLrd fdl ds }kjk fy[kh xbZ& 
 

 A. MkW vCnqy dyke B. ekSykuk vktkn 
 C. tokgjyky usg: D. egkRek xka/kh 
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 Wings of fire is written by ?  
 A. Dr. Abdul Kalam B. Maulana Azad 
 C. Jawaharlal Nehru D. Mahatma Gandhi 

 
72. vYtkbZej jksx dk vlj 'kjhj ds fdl vax ij gksrk gS& 

 
 A. ;Ñr B. ân; 
 C. gfM~M;k¡ D. efLr"d 
     
 Alzheimer’s disease affects which part of the body ?  
 A. Liver B. Heart 
 C. Bones D. Brain 
     

73. nkyphuh tks ,d elkys ds :i esa iz;ksx dh tkrh gS og gS& 
 

 A. iRrk B. Qwy 
 C. cht D. isM+ dh Nky 
     
 Cinnamon which is used as a spice in our food is a ?  
 A. Leaf B. Flower 
 C. Seed D. Bark of a tree 
     

74. Hkkjr dk jk"Vªh; iq"i dkSu lk gS& 
 

 A. xqykc B. dey 
 C. xasnk D. pesyh 
     
 The national flower of India is ?  
 A. Rose B. Lotus 
 C. Marigold D. Jasmine 
     

75. buesa ls dkSu lk i{kh nwljs i{kh ds ?kksalys esa v.Ms nsrk gS& 
 

 A. dks;y B. eksj 
 C. cqycqy D. dcwrj 
     
 Which of these birds lay eggs in another’s birds nest ?  
 A. Koel B. Peacock 
 C. Bulbul D. Pigeon 
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76. एक घड़ȣ को सुबह 8:00 बजे सेट Ǒकया जाता है । यǑद घड़ȣ 24 घंटे मɄ 10 िमनट तजे चलती है 
तो अगले Ǒदन दोपहर 1:00 बजे घड़ȣ का सहȣ समय Èया होगा ? 
 

 A. 12 बज के 48 िमनट B. 12 बज के 46 िमनट 

 C. 12 बज के 45 िमनट D. 12 बज के 47 िमनट 

     
 A clock is set right at 8 a.m. The clock gains 10 minutes in 24 hours. What will be the true time 

when the clock indicates 1 p.m. next day ?  
 A. 48 min past 12 B. 46 min past 12 
 C. 45 min past 12 D. 47 min past 12 
     

77. lh-oh- jeu dh [kkst fdl ls lEcfU/kr Fkh & 
  

 A. çdk’k ds ijkoZru rFkk 
vioZru ls 

B. Å"ek xfrdh ds fu;e 

 C. [kxksy 'kkL= D. Hkw&xHkZ 'kkL= 
     
     
 The researches of C V Raman are associated with ?  
 A. Reflection and Refraction 

of Light 
B. Laws of thermodynamics 

 C. Astronomy D. Geology 
     

78. jlk;u 'kkL= esa ^K* fdl dk ladsr fpUg gS& 
 

 A. lksfM;e B. dSfY’k;e 
 C. vkWDlhtu D. iksVsf’k;e 
     
 In chemistry the symbol ‘K’ stands for ?  
 A. Sodium B. Calcium 
 C. Oxygen D. Potassium 
     
     

79. dSVjfiYyj ¼bYyh½ frryh dk D;k gS& 
 

 A. v.Mk B. ykokZ 
 C. I;wik D. o;Ld 
     
 Caterpillar of a butterfly is ?  
 A. Egg B. Larva 
 C. Pupa D. Adult 
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80. oSDlhus’ku ¼Vhdkdj.k½ dk vfo"dkj fdlus fd;k& 

 
 A. MkfoZu B. okVlu ,oa fØd 
 C. fyul ikWfyax D. tsuj 
     
 Vaccination was invented by ?  
 A. Darwin B. Watson and Crick 
 C. Linus Pauling D. Jenner 
     

81. vuqokaf’kd xq.kksa dk okgd D;k gS& 
 

 A. Mh-,u-,- B. çksVhu 
 C. olk D. 'kdZjk 
     
 Inherited characters are borne by ?  
 A. DNA B. Protein 
 C. Fats D. Sugars 
     

82. usikuxj dk lEcU/k fdl m|ksx ls gS& 
 

 A. [kkn B. v[kckjh dkxt 
 C. 'kDdj D. Åuh diM+s 
     
 Nepanagar relates to the manufacture of ?  
 A. Fertilizer B. Newsprint paper 
 C. Sugar D. Woolen garments 
     

83. fuEu esa ls dkSu lk lapj.k ek/;e fo|qr rjaxksa dh txg izdk’k rjaxksa dks lapkfjr djrk gS& 
 

 A. fVoLVsM&is;j ok;j B. dks,Dly dscy 
 C. vkWfIVdy Qkbcj D. gkWQ M;wIysDl 
     
 Which of the following systems conducts light waves instead of electrical signals ?  
 A. Twisted pair wire B. Coaxial cable 
 C. Optical fibre D. Half duplex cable 
     

84. ĚाईनाईĚोटोãयूɃन (टȣ.एन.टȣ.) Èया है ?  
 

 A. dhVuk’kd B. [kjirokj uk’kd 
 C. thok.kquk’kd D. foLQksVd 
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 What is Trinitrotoulene (TNT) ?  
 A. Insecticide B. Weedicide 
 C. Bacteriacidal D. Explosive 
     

85. Hkwe/; lkxjh; tyok;q fuEufyf[kr esa ls fdl Qly dh Ñf"k ds fy, lokZf/kd mi;qDr gS& 
 

 A. pkoy B. Qy ,oa xsgw¡ 
 C. lse D. nkysa ,oa pkoy 
     
 Which of the following crops is suitable for cultivation in a Mediterranean type climate ?  
 A. Rice B. Fruits and wheat 
 C. Sem D. Pulses and rice 
     

86. iF̀oh ij lcls vf/kd ek=k esa ik;k tkus okyk /kkrq rRo dkSulk gS& 
 

 A. yksgk B. ,Y;qehfu;e 
 C. dSfYl;e D. lksfM;e 
     
 Which of the following metals is found in the greatest amount on earth ?  
 A. Iron B. Aluminum 
 C. Calcium D. Sodium 

 
87. flYd rUrq eq[; :i ls fdlls cuk gksrk gS& 

 
 A. dkcksZgkbMªsV B. olk 
 C. çksVhu D. [kfut 
     
 Silk fiber is mainly composed of ?  
 A. Carbohydrate B. Fats 
 C. Proteins D. Minerals 
     

88. buesa ls dkSu lh bdkbZ dEI;wVj esa buiqV djus ds fy, fp=] ekufp= rFkk Mªkbax dks fMftVy 
:i esa cnyus ds fy, ç;qDr gksrh gS& 
 

 A. LdSuj B. IykWVj 
 C. fMftVktj D. dh&cksMZ 
     
 Which of these input devices is used to convert drawings, diagrams and maps etc into digital forms 

to be fed into the computer ?  
 A. Scanner B. Plotter 
 C. Digitizer D. Keyboard 
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89. fuEu esa ls dkSu dkcZueksuksDlkbM çnw"k.k dk lzksr ugha gS& 
 

 A. rkih; ÅtkZ IykaV~l B. lM+d VªkUliksVZ lsDVj 
 C. Ñf"k jksM D. vknzZ {ks= 
     
 Which of the following is not a source of carbon monoxide pollution ?  
 A. Thermal energy plants B. Road transport sector 
 C. Agricultural sector D. Wetlands 
     

90. vdcj fdl ;q) ls lEcfU/kr gS& 
 

 A. gYnh?kkVh B. [kuok 
 C. Iyklh D. cY[k 
     
 Akbar relates to which battle ?  
 A. Haldi Ghati B. Khanwa 
 C. Plassey D. Balkh 
     

91. ck;ksMhty fdl ikS/ks ls izkIr gks ldrk gS& 
 

 A. dSDVl B. rqylh 
 C. vk¡oyk D. tVªksQk 
     
 Biodiesel can be obtained from which plant ?  
 A. Cactus B. Tulsi 
 C. Amla D. Jatropha 
     

92. He is __ honest man. Fill in the blank with the correct word ? 
 A. a B. an 
 C. the D. Those 
     

93. The girl is playing with a green ball. In this sentence Green is __ ?  
 A. Noun B. Pronoun 
 C. Verb D. Adjective 
     

94. He is running fast. In this sentence Running is __ ?  
 A. Noun B. Pronoun 
 C. Adjective D. Verb 
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95. Fill in the blank from the group of options in the sentence "My son never ……… to me so I never 

……… what he ………." 
 A. Wrote, knew, do B. Write, knew, does 
 C. Written, knows, is doing D. Writes, knew, does. 
     

96. He eats slowly. In this sentence Slowly is ?  
 A. Adverb B. Noun 
 C. Pronoun D. Article 
     

97. The boy and his sister were laughing. In this sentence And is a ?  
 A. Noun B. Verb 
 C. Adverb D. Conjunction 
     

98. Sita is a young girl. In this sentence Sita is a ?  
 A. Common Noun B. Proper Noun 
 C. Collective Noun D. Abstract Noun 
     

99. Fill in the blank. Cows ___ on grass.  
 A. Feed B. Feeds 
 C. Feeding D. Drinking 
     

100. आई.सी.एफ.आर.ई. से Èया ता×पय[ है ? 

 A. ɃǑडयन कɋिसल ओफ फोरेन 

ǐरसच[ एंड एजकेूशन  

B. ɃǑडयन कɋिसल ओफ फोरेèĚȣ  

ǐरसच[ एंड एजकेूशन 

 C. ɃǑडयन कɋिसल ओफ 

फोिसल ǐरसच[ एडं 

एवेलूएशन 

D. ɃǑडयन सɅटर फोर फोरेन ǐरसच[ 
एंड एèटाǔÞलशमɅट  

     

 ICFRE stands for ? 
 A. International Council for 

Foreign Research and 
Education 

B. Indian Council of Forestry 
Research and Education 

 C. Indian Council of Fossils 
Research and Evaluation 

D. Indian Centre for Foreign 
Relation Establishment 

 


